IR I P PP T —— )
dgoaoll alue¥l $

—: 4 Cng.ll ca.?ﬂ O 59 CJJoJI Oayd O > e (1

(+8) + (+5) (+3) = (=7)
(=7)+(=3) (+8) — (-5)
(+3) + (+7) (-7)-(-3)
N+ (3 (+9) - (+3)
(+9)+(=9) (-1)-(+3)
(+9)+(=3) (+5) - (+3)

— 1S dadd 'pi Ol g &b st (2

(+8) — (—3) = (+8) + (+3)
(+7) — (+9) = (+7) + (—9)
(+2) = (+3) = (—2) + (+3)
(+8) = (-5) = (+8) + (-5)
(+2) — (+3) = (+2) + (-3)
(-5) - (=2) = (+5) + (+2)

(+3) - (+9) = (+3)+ (-9) = =6 Y el g 3
(-10)-(-3) =
(-3~ (-1 =
(+5) — (+6) =
(-10)~(-5) =
(-5) - (+4) =
(+2) - (+10) =
(-D-(+2) =
(+3)—-(+7) =




— gl JusT 4

(+3) - (+4) =

(=3) + (+5) + (—42) =

(+)—(-5)-(+7)=

(-5) +(-3) - (+2) =

(+7) - (+3) = (+12) + (+52) =

(-10.5) + (-10.5) + (+20) =

(-2) - (+5) + (-3 + (40 =

4 3
(+2)+ (3 +(+2) + (+10) =

(+40) — (+35) — (+35) =

(~15) + (+8) + (+7) + (+10) =

(-10.2) — (+9.8) — (+10) + (-10) =

1 1
(-3) +(=32) - (+32)

(-15) + (<15) + (+15) + (-15) =

1 1 1
(-39)-(+3)+(-33)
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12:4-7
(5-14): (-3)

18:(=9+ 3)
(~4-3-6):(~2)

—40:8-9:(-3)
~36:9-6-(-2)

3-[6-2-(6-7-2)+4]:5
3:5-7/-8:]4-8
~25:(-4+9)
{~4+20:[-6-B-71}:(-7)
~20:4+3-2
-|6-9-2+[3-6]:3]

~|-3-2-2-]4-9:5
2-(12:3+5-2):7

24:(-6)-2

3+(=2)-2
{-5-4-[-6+2-(7T-9)]}:5

(6+8):(-3+1)

—:J> 6
(4-4-7-3)-(-8) 3 (-3)*-7-3-5-2° _
D 5.(6:2—4)+1 - 8:22+2-52+(—2)5
: : N8 _(_ay.92 12
2) 18:(-3)—-32:8 4)( D°-(-3)-2°+1

(-56:7+5-4):(-3) 36:(=3)2 —22.2



